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GPM=Q/5000
Q: Cooling load (Btu/hr)
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% s o (TR) = 12000 Btu/hr

Btu/hr / 4 = Kcal/hr
M3/hr * 4.4 = GPM
Gallons * 3.785 = Lit
CFM /0.6 = M*hr

HP * 0.735 = Kw

Btu/hr * 0.29287 = Watts
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Low pressure : 15 psig

Medium pressure : 60 psig
High pressure : 100~150 psig
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Water : 1.5~3 m/s
Steam : 20 m/s
Air in pipe : 20 m/s
Air in duct (industrial) : 1050 ft/min
Air in duct (non industrial) : 900 ft/min
Air in return or exhaust ducts : 750 ft/min
Air passing trough coils : 500 ft/min
Air passing from diffusers and supply grills : 300 ft/min

Air passing from exhaust grills : 200 ft/min
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